Name:

Balancing Chemical Equations

Balance each of the following chemical equations:

1. 2Na + Cl, = 2NacCl

2. Ca + Br, = CaBr,

3. 4A1 + 30, = 2A1,0,

4 C + 0, = CO,

5. P, + 6Cl, = 4PC1,

6. 250, + 0, = 250,

7. 28n + 0, = 25n0

8. Al,C, + 12H,0 = 4A1 (CH) 4 + 3CH,
9. Fe;0, + 4H, = 3Fe + 4H,0

10. 2KC10, = 2KC1 + 30,

11. 2HgO = 2Hg + 0,
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2A1 + Fe,0, = Al,0, + 2Fe

KC10, =D KC1 + 20,

CH, + 20, = CO, + 2H,0

2C,H, + 70, = 4CO, + 6H,0

Sio, + 4HF =2 SiF, + 2H,0

2Pb0, =D 2Pb0O + 0,

2NaBr + Cl, = 2NaCl + Br,

Sb,S; + 12HC1 =0 2H,SbC1, + 3H,S
Ca(OH), + 2HNO, = Ca (NO;), + 2H,0
Cr,(S0,); + 6NaOH = 2Cr (OH) ; + 3Na,SO,
Cu + 2AgNO, = Cu (NO3) , + 2Ag

3MgO + 2H.PO, = Mg, (PO,) , + 3H,0

3Ba (NO;), + 2Na,PO, = Ba; (PO,), + 6NaNO,



